28,665

3, 640 1,820 2,730 910 2,730 , 2,730 910 2,730 1,365 1,820 3, 640

E Ei==ri= H@—w J = (AW) (AW) (AW} (AW}
i
o K H = wﬁl ______ I = ; s S b = IL T - : = ©
2 | oy ety P ‘ S N
el oot e | I :
Srer el 1Uio 1 -
. . ‘ 9/ H SV H It -
| YA ) I Bz-6 | 3 -7 I BE-8 | = BE-9
8 (S L K sié | K L K siz K
T el [l i |
i V4 1% # e 4 - ~
m ! I I\ 2 1 | sZ_ | 1
s & B4 S B i L St P
: S e el 1eflal —
™ 1 vﬁ R ,,,,, ,,,,, oot ——— - ,,,,,,,,,,,,,,,,,, ,,,,, /f‘(j,ij,i, v
P e -
—— L a fw—ﬂ—n—&l—w#;fgwf ; \\ ,/ : g :_
[ AN s 2 o
! K ‘4‘ 3 ) ‘ § )
3 : 1 ‘ @ \ / 3 A
o ™~ : i - ;X 34
< &/ @ ‘ i N yd |
o_ i ‘\: : :,,” \ __ >< ‘ E
= i N B RN A% -
'— S Vi ’ \ ‘ (D
| N e .
;@ - S o
) BE-2 | . . ! ! ! S
~ | 1 /W DY (WD 4 3
a > *f‘ - SO I o L = o
| S e ey
I L% HM“%HJ#@/ ® T ﬂ@ | #mz 5;%
| K | | v o [EE ] S
c . H @ T g T S
= Il me |\  adie |- I -
A 3 @ : — ¢ =i B —7 —g_—'fﬁﬁ
i i | T
g o \J/ \Jr/ =
7T} ‘\_1_3,/ 2
2,275 | 1,820 | 4,550 !455 2,047.5 | 2,047.5 3,640 2,275 | 1,820
| 910 | 910 | 3, 640 9,100 4,095 5, 460 4,095 455
BE-REXRX-—-—7F5> 1/100
R EBRNEER (LE) H ¥ 42222 8 BE BRI BR ) BRE HEBHAN HEEEUS RE & #R
Y7/ == ixX o BEPHUI EHEEMT ¥ B 500-3 TEL 64— 2465 BER - xExx—735 > 1/100
EEEET T B —RESTER $1630268 ns FOEODR—LEHRIE i i




